

APPENDIX - A

IMPACT OF HRM PRACTICES AND ORGANISATIONAL CULTURE ON TURNOVER INTENTION, ORGANISATIONAL COMMITMENT AND PERFORMANCE APPRAISAL PERCEPTIONS OF INDIAN ACADEMICIANS WORKING ABROAD

Instructions for Completing this Survey

- 1. Please answer all the survey questions to the best of your ability.
- 2. We welcome any additional comments in the space provided at the end of the survey.
- 3. Please return the completed survey at your earliest convenience.

NOTE: You are requested to respond to the questionnaire items honestly. Your responses will be kept strictly confidential and use only for academic purposes.

SECTION A:

HUMAN RESOURCE FACTORS

How accurately do the following statements best describe your personal fit with your organization's culture and values?

| | ORGANIZATION FIT | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|--|----------------------|----------|---------|-------|-------------------|
| 1. | This organization has the same values as I have with regard to concern for others. | 1 | 2 | 3 | 4 | 5 |
| 2. | This organization does not have the same value as I have with regard to fairness. | 1 | 2 | 3 | 4 | 5 |
| 3. | This organization has the same values as I have with regard to honesty. | 1 | 2 | 3 | 4 | 5 |
| 4. | I feel that my personal values are a good fit with this organizational culture. | 1 | 2 | 3 | 4 | 5 |

How accurately do the following statements describe your organization's <u>remuneration and recognition system?</u>

| | REMUNERATION AND RECOGNITION | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|---|----------------------|----------|---------|-------|-------------------|
| 1. | Employees are given positive recognition when they produce high quality work. | 1 | 2 | 3 | 4 | 5 |
| 2. | This organization pays well. | 1 | 2 | 3 | 4 | 5 |
| 3. | This organization offers a good benefits package compared to other organizations. | 1 | 2 | 3 | 4 | 5 |
| 4. | This organization values individual excellence over teamwork. | 1 | 2 | 3 | 4 | 5 |
| 5 | This organization offers good opportunities for promotion. | 1 | 2 | 3 | 4 | 5 |

How accurately do the following statements describe your organization's <u>training and career development practices</u>?

| | TRAINING AND CAREER DEVELOPMENT | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|--|----------------------|----------|---------|-------|-------------------|
| 1. | People are properly orientated and trained immediately upon joining this organization. | 1 | 2 | 3 | 4 | 5 |
| 2. | This organization does provide regular opportunities for personal and career development throughout their stay through training | 1 | 2 | 3 | 4 | 5 |
| 3. | Innovation and creativity are encouraged here. | 1 | 2 | 3 | 4 | 5 |
| 4. | The organization has career development activities to help an employee identify/ improve abilities, goals, strengths & weaknesses. | 1 | 2 | 3 | 4 | 5 |

How accurately do the following statements describe <u>attributes</u> that are currently present in your job?

| | CHALLENGING EMPLOYMENT ASSIGNMENTS AND OPPORTUNITIES | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|---|----------------------|----------|---------|-------|-------------------|
| 1. | Employees are offered challenging work within the organization. | 1 | 2 | 3 | 4 | 5 |
| 2. | Employees can work autonomously on their work assignments. | 1 | 2 | 3 | 4 | 5 |
| 3. | Employees are skilled to do a number of different jobs, not just one particular job.(e.g., mentoring, advising, industry interaction) | 1 | 2 | 3 | 4 | 5 |
| 4. | Employees are given opportunities to learn new things. | 1 | 2 | 3 | 4 | 5 |
| 5 | Employees are offered variety in their job. | 1 | 2 | 3 | 4 | 5 |

SECTION B: ORGANISATIONAL CULTURE FACTORS

How accurately do the following statements describe the effectiveness of your organisation's leadership practices at the organisational and the team level?

| | ORGANISATIONAL LEADERSHIP | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|---|--|----------------------|----------|---------|-------|-------------------|
| 1 | The leadership practices in this organisation help me to become a high performing employee. | 1 | 2 | 3 | 4 | 5 |
| 2 | The leadership practices in this organisation enhance my satisfaction with my job. | 1 | 2 | 3 | 4 | 5 |
| 3 | The organisational leadership practices are consistent with my personal values. | 1 | 2 | 3 | 4 | 5 |
| 4 | The organisational leadership practices make a positive contribution to the overall effectiveness of the organisation. | 1 | 2 | 3 | 4 | 5 |

| | TEAM RELATIONSHIP | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|---|---|----------------------|----------|---------|-------|-------------------|
| 1 | Team work is valued in this organisation. | 1 | 2 | 3 | 4 | 5 |
| 2 | Members of my team expect and maintain high standards of performance. | 1 | 2 | 3 | 4 | 5 |
| 3 | Team leaders are recognised for promotion and development. | 1 | 2 | 3 | 4 | 5 |
| 4 | Each member of my team has a clear idea of the group's goals. | 1 | 2 | 3 | 4 | 5 |

How accurately do the following statements describe your organization's communication processes?

| | COMMUNICATION | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|--|----------------------|----------|---------|-------|-------------------|
| 1. | This organization keeps employees well-informed on matters important to them. | 1 | 2 | 3 | 4 | 5 |
| 2. | Sufficient effort is made to determine the views of people who work here. | 1 | 2 | 3 | 4 | 5 |
| 3. | Communication across all levels in this organization tend to be good. | 1 | 2 | 3 | 4 | 5 |
| 4. | The organisational structure encourages horizontal and vertical communication. | 1 | 2 | 3 | 4 | 5 |
| 5 | There is trust between employees and their supervisors/team leaders | 1 | 2 | 3 | 4 | 5 |

How accurately do the following statements best describe your <u>working environment?</u> Please circle a number for each statement to indicate the extent of your agreement.

| | WORKING ENVIRONMENT | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|---|----------------------|----------|---------|-------|-------------------|
| 1. | I balance my working life and family life. | 1 | 2 | 3 | 4 | 5 |
| 2. | Overall, this organisation is a harmonious place to work in. | 1 | 2 | 3 | 4 | 5 |
| 3. | This organisation regards the welfare of its employees as its first priority. | 1 | 2 | 3 | 4 | 5 |
| 4. | Employees and management get along well in this organisation. | 1 | 2 | 3 | 4 | 5 |
| 5 | For the work I do, the physical working conditions are very pleasant. | 1 | 2 | 3 | 4 | 5 |
| 6 | This organization offers a lot of security. | 1 | 2 | 3 | 4 | 5 |
| 7 | A spirit of cooperation and teamwork exists. | 1 | 2 | 3 | 4 | 5 |

SECTION C: ORGANISATIONAL COMMITMENT

How accurately do the following statements describe your commitment to your organization?

| | ORGANISATIONAL COMMITMENT | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|--|----------------------|----------|---------|-------|-------------------|
| 1. | I feel a strong sense of belonging to this organisation. | 1 | 2 | 3 | 4 | 5 |
| 2. | I could just as well be working for a different organization if the type of work were similar. | 1 | 2 | 3 | 4 | 5 |
| 3. | I often find it difficult to agree with this organization's policies on important matters relating to its employees. | 1 | 2 | 3 | 4 | 5 |
| 4. | This organization really inspires the very best in me in my job performance. | 1 | 2 | 3 | 4 | 5 |
| 5 | I find that my values and this organization's values are very similar. | 1 | 2 | 3 | 4 | 5 |
| 6 | There is little to be gained by remaining in this organization indefinitely. | 1 | 2 | 3 | 4 | 5 |
| 7 | I am willing to put in a great deal more effort than normally expected to help this organization be successful. | 1 | 2 | 3 | 4 | 5 |
| 8 | I am proud to tell others that I am part of this organization. | 1 | 2 | 3 | 4 | 5 |
| 9 | I really care about the fate of this organization. | 1 | 2 | 3 | 4 | 5 |

SECTION D:

TURNOVER INTENTION

What are your plans for staying with this organization?

| | TURNOVER INTENTION | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|--|----------------------|----------|---------|-------|-------------------|
| 1. | I plan to work at my present job for as long as possible. | 1 | 2 | 3 | 4 | 5 |
| 2. | I will most certainly look for a new job in the near future. | 1 | 2 | 3 | 4 | 5 |
| 3. | I plan to stay in this job for at least two to three years. | 1 | 2 | 3 | 4 | 5 |
| 4. | I would hate to quit this job. | 1 | 2 | 3 | 4 | 5 |

SECTION E: PERFORMANCE APPRAISAL PERCEPTIONS

The following propositions relate to the perceived fairness of the development of performance measures.

| | PROCEDURAL FAIRNESS | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|--|----------------------|----------|---------|-------|-------------------|
| 1. | The procedure for preparing measures to evaluate the department's performance is applied consistently among the sections. | 1 | 2 | 3 | 4 | 5 |
| 2. | All sections are treated similarly by respectively considering the non-financial measures of each section. | 1 | 2 | 3 | 4 | 5 |
| 3. | The procedures for preparing the measures include provision for an appeal process. | 1 | 2 | 3 | 4 | 5 |
| 4. | The procedure for determining department performance measures provides sufficient opportunity for section managers to present views and opinions before the performance measures are finalized. | 1 | 2 | 3 | 4 | 5 |
| 5. | The department performance measures are based on accurate information. | 1 | 2 | 3 | 4 | 5 |
| 6. | The department performance measures are determined by the HoD in an unbiased manner. | 1 | 2 | 3 | 4 | 5 |

The following questions relate to interpersonal trust between parties in the performance

evaluation process.

| | Interpersonal Trust | Strongly Disagree | Disagree | Neutral | Agree | Strongly Agree |
|----|---|----------------------|----------|---------|-------|-------------------|
| 1. | My senior manager (HoD) takes advantage of opportunities that come up to further my interest by his/her actions and decisions. | 1 | 2 | 3 | 4 | 5 |
| 2. | I feel free to discuss with my HoD the problems and difficulties I have in my job without jeopardizing my position or having it 'held against' me later on. | 1 | 2 | 3 | 4 | 5 |
| 3. | I feel confident that my HoD keeps me fully and frankly informed about things that might concern me. | 1 | 2 | 3 | 4 | 5 |
| 4. | HoDs at times must make decisions which seem to be against the interests of their division/department HoDs. | 1 | 2 | 3 | 4 | 5 |
| 5. | When this happened, I believe that my HoD's decision is justified by other considerations. | 1 | 2 | 3 | 4 | 5 |

SECTION F: DEMOGRAPHY

(Please tick in the appropriate box)

| 1. | Gender □ Male | □ Female | |
|----|--|------------------------|-------------|
| 2. | Marital Status □ Married | □ Single | |
| 3. | Which of the following groups | s represents your age? | |
| | □ Less than 30 years | □ 30-40 years | 41-50 years |
| | □ 51-60 years | □ More than 60 years | · |
| 4. | How long have you worked for | r this institution? | |
| | □ Less than 3 years | □ 3-5 years | 6-8 years |
| | □ 9-11 years | □ More than 11 years | |
| 5. | Higher Education Institutions □ Public | type □ Private | |
| 6. | 6. Are you working under a H ☐ Yes ☐ No | 2 | |

Thank you for your cooperation in completing this questionnaire.

If there is anything else you would like to tell us, please use the next page to record them.

APPENDIX – B

ANOVA for Organisation Fit Score

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|-----------|--------------------|
| | Between Groups | 25.750 | 4 | 6.437 | 1.093 | |
| Age | Within Groups | 3134.053 | 532 | 5.891 | | Not Significant |
| | Total | 3159.803 | 536 | | | |
| | Between Groups | 17.984 | 4 | 4.496 | 0.761 | |
| Experience | Within Groups | 3141.819 | 532 | 5.906 | | Not Significant |
| | Total | 3159.803 | 536 | | | |

ANOVA for Remuneration and Recognition score:

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|-----------------|
| | Between Groups | 123.252 | 4 | 30.813 | 2.178 | |
| Age | Within Groups | 7527.317 | 532 | 14.149 | | Not Significant |
| | Total | 7650.570 | 536 | | | |
| | Between Groups | 30.993 | 4 | 7.748 | 0.541 | |
| Experience | Within Groups | 7619.576 | 532 | 14.323 | | Not Significant |
| | Total | 7650.570 | 536 | | | |

ANOVA for Training and Career Development

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|--------------|
| | Between Groups | 111.645 | 4 | 27.911 | 2.158 | |
| Age | Within Groups | 6881.845 | 532 | 12.936 | | Ns |
| | Total | 6993.490 | 536 | | | |
| | Between Groups | 86.296 | 4 | 21.574 | 1.662 | |
| Experience | Within Groups | 6907.194 | 532 | 12.983 | | Ns |
| | Total | 6993.490 | 536 | | | |

ANOVA for Challenging Assignments:

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|--------------|
| | Between Groups | 84.050 | 4 | 21.013 | 2.098 | |
| Age | Within Groups | 5328.892 | 532 | 10.017 | | Ns |
| | Total | 5412.942 | 536 | | | |
| | Between Groups | 47.486 | 4 | 11.872 | 1.177 | |
| Experience | Within Groups | 5365.456 | 532 | 10.085 | | Ns |
| | Total | 5412.942 | 536 | | | |

ANOVA for Organisational Leadership

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|----------------------------|
| | Between Groups | 148.037 | 4 | 37.009 | 3.205 | |
| Age | Within Groups | 6142.689 | 532 | 11.546 | | Significant at 1% level |
| | Total | 6290.726 | 536 | | | |
| | Between Groups | 32.113 | 4 | 8.028 | .682 | Not |
| Experience | Within Groups | 6258.614 | 532 | 11.764 | | Significant |
| | Total | 6290.726 | 536 | | | |

ANOVA for Team Relationship

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|--------------|
| | Between Groups | 71.386 | 4 | 17.846 | 2.297 | Not |
| Age | Within Groups | 4132.584 | 532 | 7.768 | | significant |
| | Total | 4203.970 | 536 | | | |
| | Between Groups | 46.190 | 4 | 11.547 | 1.478 | Not |
| Experience | Within Groups | 4157.781 | 532 | 7.815 | | significant |
| | Total | 4203.970 | 536 | | | |

ANOVA for Communication:

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|--------------|
| | Between Groups | 83.773 | 4 | 20.943 | 1.538 | Not |
| Age | Within Groups | 7245.325 | 532 | 13.619 | | significant |
| | Total | 7329.099 | 536 | | | |
| | Between Groups | 90.205 | 4 | 22.551 | 1.657 | Not |
| Experience | Within Groups | 7238.894 | 532 | 13.607 | | significant |
| | Total | 7329.099 | 536 | | | |

ANOVA for Working environment

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|----------------|
| | Between Groups | 80.223 | 4 | 20.056 | 2.540 | Significant at |
| Age | Within Groups | 4201.088 | 532 | 7.897 | | 1% level |
| | Total | 4281.311 | 536 | | | |
| | Between Groups | 34.440 | 4 | 8.610 | 1.079 | Not |
| Experience | Within Groups | 4246.871 | 532 | 7.983 | | significant |
| | Total | 4281.311 | 536 | | | |

ANOVA for Organisational Commitment

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|-----------------------|-------------------|-----|----------------|--------------|--------------------|
| | Between Groups | 108.194 | 4 | 27.048 | 2.990 | |
| Age | Within Groups | 4812.432 | 532 | 9.046 | | Not significant |
| | Total | 4920.626 | 536 | | | |
| | Between Groups | 38.669 | 4 | 9.667 | 1.053 | |
| Experience | Within Groups | 4881.957 | 532 | 9.177 | | Not significant |
| | Total | 4920.626 | 536 | | | |

ANOVA for Turnover Intention:

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|-----------------------|-------------------|-----|----------------|--------------|-----------------|
| | Between Groups | 47.185 | 4 | 11.796 | 2.031 | |
| Age | Within Groups | 3089.444 | 532 | 5.807 | | Not significant |
| | Total | 3136.629 | 536 | | | |
| | Between Groups | 7.918 | 4 | 1.980 | 0.337 | |
| Experience | Within Groups | 3128.711 | 532 | 5.881 | | Not significant |
| | Total | 3136.629 | 536 | | | |

ANOVA for Procedural fairness:

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|-----------------------|-------------------|-----|----------------|--------------|-------------------------|
| | Between Groups | 181.697 | 4 | 45.424 | 2.718 | |
| Age | Within Groups | 8891.610 | 532 | 16.714 | | Significant at 1% level |
| | Total | 9073.307 | 536 | | | |
| | Between Groups | 120.542 | 4 | 30.136 | 1.791 | |
| Experience | Within Groups | 8952.765 | 532 | 16.829 | | Ns |
| | Total | 9073.307 | 536 | | | |

$\label{eq:anova} \textbf{ANOVA for Interpersonal trust:}$

| Variable | Grouping | Sum of Squares | df | Mean Square | F - value | Significance |
|------------|----------------|-------------------|-----|----------------|--------------|--------------|
| Age | Between Groups | 36.864 | 4 | 9.216 | 1.131 | Ns |
| | Within Groups | 4336.358 | 532 | 8.151 | | |
| | Total | 4373.222 | 536 | | | |
| Experience | Between Groups | 32.361 | 4 | 8.090 | 0.992 | Ns |
| | Within Groups | 4340.861 | 532 | 8.160 | | |
| | Total | 4373.222 | 536 | | | |

APPENDIX - C

References:

- Abassi, S.M. & Hollman, K.W. (2000), Turnover: the real bottom line, Public Personnel Management, Vol.2, pp.333-342.
- Abernethy, M.A., W.F. Chua, P.F. Luckett and F.H. Selto. (1999). Research in Managerisl Accounting: Learning form others' experiences. Accounting and Finance 39 (1), 1-28.
- Ahmed, S. (1999). The Emerging Effectiveness for Human Resource Management: An Exploratory Study with Performance Appraisal. The Journal Of Management Development. 18, 6, 543-556.
- Alluto, J.A. Hrebiniak, L.C. and Alonso, R.C.(1973). 'On operationalising the concept of commitment.' Social Forces, v51, 448-54
- Andrews, F. M. (1984). Construct validity and error components of survey measures: A structural modelling approach. Public Opinin Quarterly 48(2), 409-442.
- Appelbaum, E & Batt, R. (1994). The New American Workplace: Transforming work systems in the United States. Ithaca NY: ILR Press.
- Arago´n-Sa´nchez, A., Barba-Arago´n, I., & Sanz-Valle, R. (2003), 'Effects of Training on Business Results', International Journal of Human Resource Management, Vol.14, pp.956-980
- Armstrong. (2006). A Handbook of Human Resource Management Practice 10th Edition. London.
- Arthur, Jeffrey. (1994) "Effects of Human Resource Systems on Manufacturing Performance and Turnover". Academy of Management Journal, 37: 4, pp. 670-687
- Avolio, B., 1999. Full leadership development: building the vital forces in organizations, Sage Publications, Thousand Oaks, CA.
- Awamleh, G. R. (1999). Perceptions of leader charisma and effectiveness: the effects of vision content, delivery, and organizational performance. The Leadership Quarterly, 10(3), 345 373

- Axelrod, R. (2000). Terms of engagement: changing the way we change organizations. San Francisco, CA: Berrett-Koehler Publications.
- Barney, J. (1991). Firm Resources and Sustained Competitive Advantage. Journal of Management, 99-120.
- Bartel, A. P (1994). Productivity gains from the implementation of employee training programs. *Industrial Relations*, 33: 411-425
- Becker, B. & Gerhart, B. (1996). The Impact of Human Resource Management on Organisational Performance: Progress and Prospects. Academy of Management Journal, Vol. 39, 779-801.
- Becker, B.E. & Huselid MA. (2006), 'Strategic human resource management: Where do we go from here?' Journal of Management, Vol.32, pp.898-925
- Becker, G.S. (1964) Human Capital. Chicago: University of Chicago Press. 2nd edition, 1975. 3rd edition, 1993
- Bennis, W. (1998) Rethinking leadership. Executive Excellence, 15(2):7-8
- Berger, A.N. and Mester, L.J. (1997): "Inside the black box: What explains differences in the efficiencies of financial institutions", Journal of Banking and Finance 21, 895-947
- Bergsteiner, H. (2005) Bergsteiner's Leadership Matrix. Unpublished Paper, MGSM, Australia.
- Berndt RM & Berndt CH (1965) Aboriginal Man in Australia, Essays in Honour of Emeritus Professor A.P. Elkin, Angus & Robertson, Melbourne, 1965.
- Beugre, C. (1998). Managing fairness in organizations. Westport, CT: Quorum Books.
- Booyens, SW. (ed.). 1998. Dimensions of nursing management. 2nd ed. Kenwyn:Juta.
- Boswell, W. R. and Boudreau, J. W. (2000). Employee Satisfaction with Performance Appraisal And Appraisers: The Role Of Perceived Appraisal Use. Human Resource Development Quarterly, 11, 3, 283-299.
- Boswell, W.R., Roehling, M.V., LePine, M.A., & Moynihan, L.M. (2003). Individual job choice decisions and the impact of job attributes and recruitment practices: A longitudinal field study. Human Resource Management, 42, 23-37.

- Bowen, D.E., Ledford, G.E., & Nathan, B.R. (1991). Hiring for the organization, not the job. The Executive: An Academy of Management Publication, 5, 35-51.
- Bowen, David.E., and Ostroff, Cheri. 2000. Understanding HRM–Firm Performance Linkages: the role of the "strength" of the HRM system, Academy of Management Review, 2004, 29, No. 2: 203–221
- Boxx WR, Odom RY, Dunn MG (1991), "Organizational values and value congruency and their impact on satisfaction, commitment, and cohesion," Public Personnel Management, 20, 195-205
- Bretz, R. D., Jr., Milkovich, G. T., & Read, W. (1992). The current state of performance appraisal research and practice: Concerns, directions, and implications (CAHRS Working Paper #92-15). Ithaca, NY: Cornell University, School of Industrial and Labor Relations, Center for Advanced Human Resource Studies.
- Brown M, Benson J W. (2003) "Rated to exhaustion? Reactions to performance appraisal processes" Industrial Relations Journal, 34 (1), 67 81.
- Buitendach, J., & De Witte, H. (2005). Job insecurity, extrinsic and intrinsic job satisfaction and affective organizational commitment of maintenance workers in a parastatal. South African Journal of Business Management, 36(2), 27-37.
- Cable, D. M., & Judge, T. A. (1996). Person-organization fit, job choice decisions, and organizational entry. Organizational Behavior and Human Decision Processes, 67, 294–311
- Cannella, A. A. and Rowe, W. G. (1995). Leader capabilities, succession, and competitive context: A study of professional Baseball Teams. Leadership Quarterly, 6, 69-88
- Carroll, S. A. (1982). Performance Appraisal and Review systems: the Identification, Measurement, Development of Performance in Organizations. Dallas: Scott, Foresman and Company
- Chin, W. W (1998). Issues and Opinion on Structural Equation Modeling MIS Quarterly, Management Information Systems Research Center, University of Minnesota 22:1 vii-xvi

- Chin, W. W., and Newsted, P. R. (1999). "Structural Equation Modeling Analysis with Small Samples Using Partial Least Squares," in Statistical Strategies for Small Sample Research, Rick Hoyle (ed.), Thousand Oaks, CA: Sage Publications, 307-341
- Chin, W. W., Marcolin, B. L., and Newsted, P. N. (2003). A partial least squares latent variable modeling approach for measuring interaction e ects: Results from a monte carlo simulation study and an electronic-mail emotion/adoption study. Information Systems Research, 14(2):189–217.
- Cho, S., Johanson, M. M., Guchait, P., (2009). Employees intent to leave: a comparison of determinants of intent to leave versus intent to stay. International Journal of Hospitality Management 28(3), 374–381
- Churchill, G. A. 1979. A paradigm for developing better measures of marketing constructs. Journal of Marketing Research 16, 64-73
- Clarke, K. F. (2001). What businesses are doing to attract and retain employees becoming an employer of choice. Employee Benefits Journal, 34-37.
- Coens, T. A. (2000). Abolishing Perfromance Appraisals. San Francisco: Berrett-Koehler Publishers Inc.
- Cohen, A., and Lowenberg, G. (1990). 'A re-examination of the side bet theory as applied to organisational commitment: a meta analysis'. Human Relations, Oct, v43, n10,1015-1051
- Collins CJ, Clark KD. Strategic human resource practices, top management team social networks, and firm performance: the role of human resource in creating organizational competitive advantage. Acad Manage J 2003 46(6): 740–51
- Colquitt, J. A., Conlon, D. E., Wesson, W. J., Porter, C. O. L. H., & Ng, K. Y. (2001). Justice at the millennium: A meta-analytic review of 25 years of organizational justice research. Journal of Applied Psychology, 86, 425-445
- Conger, J. A. (1999). Charismatic and transformational leadership in organizations: an insider's perspective on these developing streams of research. The Leadership Quarterly, 10(2), 145 169
- Cronbach, L. J. ìCoefficient alpha and the internal structure of tests.î Psychometrika 22:3, 1951, pp. 297-334.

- Cutcher-Gershenfeld, J. and T.A. Kochan. (2002). Taking stock: Collective bargaining at the turn of the century. MIT Sloan School of Management Working Paper
- Dailey, R.C. & Kirk, D.J. Distributive and procedural justice as antecedents of job dissatisfaction and intent to turnover. Human Relations, 1992, 45, 305–17
- Daly, C.J., & Dee, J.R. (2006). Greener Pastures: Faculty Turnover Intent in Urban Public Universities. Journal of Higher Education, 77.5 (8/9), 59-64.
- Davoudi, S. M. M., & Fartash, K. (2013). Turnover intentions: Iranian employees. SCMS journal of Indian Management, 10(1): 89-99
- Dayanandan, R., 'HR in Co-operative Banks', Ph.D., Thesis, Kerala University, 1997, P.194
- De Pater, I.E., Van Vianen, A.E.M., Bechtoldt, M.N., & Klehe, U. (2009). Employees' job challenge and supervisors' evaluations of promotability. Personnel Psychology, 62, 297-325
- De Saa-Perez, P. &. (February 2002). A resource-based view of human resource management and organsizational capabilities development. International Journal of HRM 13:1, 123-140.
- De Saa-Perez, P. &. (February 2002). A resource-based view of human resource management and organsizational capabilities development. International Journal of HRM 13:1, 123-140.
- de Vaus, D. A. (1992). Surveys in Social Research. London: Allen and Unwin.
- Deery, M. A., & Iverson, R. D., (1996). Enhancing productivity: intervention strategies for employee turnover. In: Johns, N. (Ed.), Productivity Management in Hospitality and Tourism. Cassell, London
- Delaney, J. T., & Huselid, M. A. (1996) The impact of human resource management practices on perceptions of organizational performance, Academy of Management Journal, 39, 949-970
- Delery, J. E., & Doty, D. H. (1996). Modes of theorizing in strategic human resource management: Tests of universalistic, contingency, and configurational performance predictions. Academy of Management Journal, 39(4), 802–835.

- Delery, J.E & doty, D.H. (1996). Modes of Theorizing in Strategic Human Resource Management: Tests of Universalistic, Contingency and Configurational Performance Predictions. Academy of Management Journal, 39, 802-835.
- DeNisi, A.S., Cafferty, T. and Meglino, B.M. (1984). A Cognitive view of the Perfromance Appraisal Process: A Model and Research Proprositions.

 Organizational Behaviour and Human Performance, 33, 360-396
- DeRue, D. S. & Rosso, B. (2009). Toward a theory of efficient creativity in teams. In M. A. Neale, E. A. Mannix, & J. A. Goncalo (Eds.), Research on Managing Groups and Teams (pp. 195-228). Bingley, UK: Emerald
- DeRue, D. S. & Wellman, N. (2009). Developing leaders via experience: The role of developmental challenge, learning orientation, and feedback. Journal of Applied Psychology, 94, 859-875
- Dessler, G. (1994). Human Resource Management. Englewood Cliffs, NJ: Prentice-Hall.
- Dillman, D.A. (2007). Mail and Internet Surveys: the Tailored Design Method, 2nd Edition. USA: John Wiley & Sons, Inc. .
- DiVincenti, M. 1986. Administering Nursing Service. 2nd ed. Pretoria: Juta
- Dragoni. L, Tesluk, P.E., Russell, J.E.A., & Oh, I.S. (2009). Understanding managerial development: Integrating developmental assignments, learning orientation and access to developmental opportunities in predicting managerial competencies. Academy of Management Journal, 52, 731-743.
- Dubinsky, A. J., Yammarino, F. J., Jolson, M. A., & Spangler, W. D. (1995). Transformational leadership: an initial investigation in sales management. Journal of Personal Selling and Sales Management, 15, 17 – 29
- Eisenberger, R., Huntington, R., Hutchison, S., & Sowa, D. (1986). Perceived organizational support. Journal of Applied Psychology, 71, 500-507
- Elliot, A. J., & Dweck, C. S. (Eds.). (2005). Handbook of competence and motivation. New York: Guilford
- Fey, C.F., Bjorkman, I., & Pavlovskaya, A. (2000), 'The effect of human resourcemanagement practices on firm performance in Russia', *International Journal of Human Resource Management*, Vol.11, pp.1-18

- Folger, R., & Lewis, D. (1993). Self-appraisal and fairness in evaluations. In R. Cropanzano (Ed.), Justice in the workplace: Approaching fairness in human resource management 107-131. Hillsdale, NJ: Lawrence Erlbaum Associates.
- Fornell, C., Larcker, D.F., 1981. Evaluating structural equation models with unobservable variables and measurement error. Journal of Marketing Research 18 (1), 39-50
- Frazis, H., Gittleman, M., Horrigan, M. and Joyce, M. (1998). 'Results from the 1995 Survey of Employer-Provided Training.' In Monthly Labor Review, June, v121, n6, pp. 3-14.
- Gabris, G. T. and Ihrke, D.M. (2000). Improving Employee Acceptance Toward Performance Appraisal And Merit Pay Systems. Review Of Public Personnel Administration, Winter 2000, 41-53.
- Garibaldi. P. (2006). Personnel Economics in Imperfect Labour Markets. Oxford: Oxford University Press.
- George, J. & Jones, G. (1999). Understanding and managing organizational behaviour. (2nd ed.). Reading, MA: Addison-Wesley
- Gibson, J.L; Ivancevich, J.M and Donnelly, J.H. (1997). Organizations Behaviour Structure Processes. Boston: McGraw-Hill Irwin.
- Gould-Williams, J. (2003). The importance of HR practices and workplace trust in achieving superior performance: a study of public-sector organizations. International Journal of Human Resource Management, 14(1), 28-54.
- Greenberg, J. (1986) Determinants of perceived fairness of performance evaluation, Journal of Applied Psychology, 71, 340-342.
- Greenberg, J. and Baron, R.A. (1993). Behaviour in Organisations. Boston: Allyn & Bacon
- Greenberg, L.S. (2002). Emotion-focused therapy: Coaching clients to work through their feelings. Washington, DC: American Psychological Association
- Guest, D. (2002). Human resource management, corporate performance and employee wellbeing: Building the worker into HRM. The Journal of Industrial Relations, 44(3), 335-358.

- Guest, D. 2001. "Industrial relations, trade unions and human resource management".In J. Storey (ed). Human Resource Management: A Critical Text. London: Thompson Learning Business Press. Harcourt College Publishers.
- Guest, D.E., Michie, J., Sheehan, M., & Metochi, M. (2000), 'Effective People Management: Initial Findings of the Future of Work Survey', Chartered Institute of Personnel and Development, London
- Guzzo, Richard A. and Marcus W. Dickson. 1996. "Teams in Organizations: Recent Research on Performance and Effectiveness". Annual Review of Psychology, 47:307-338.
- Hair, J. F. Jr., Black. W.C., Babin, B.J., Anderson. R. E, Tatham, R.L.,. (2006). Multivatiate Data Analysis. New Jersey: Prentice Hall, Pearson Education, Inc.,.
- Harel, G.H. & Tzafrir, S.S. (1999). The Effect of Human Resource Management Practices on the Perceptions of Organisational and Market performance of the Firm. Human Resource Management, vol. 38, , 185-200.
- Harley, B. (2002). Employee responses to high performance work system practices: An analysis of the AWIRS95 data. Journal of Industrial Relations, 44(3), 418-34
- Hellman, C. M. (1997). Job satisfaction and intent to leave. Journal of Social Psychology, 137(6): 67-689
- Hiltrop, J. M., Despres, C.,. (1995). Benchmarking HR Practices: Approaches, Rationales and Prescriptions for Action, Chapter 9 in D.E. Hussey (Ed.). In Rethinking Strategic Management: Ways to Improve Competitive Performance. Wiley.
- Hom, P. W. & Griffeth, R. W. (1991). Structural Equations Modeling Test of a Turnover Theory: Cross-Sectional and Longitudinal Analyses. Journal of Applied Psychology, 76, 350 366.
- Hom, P. W. & Griffeth, R. W. (1995). Employee Turnover. Cincinnati, OH: South Western College Publishing
- Hoque, K.,. (1999). Human Resource Management and Performance in the UK Hotel Industry. British Journal of Industrial Relations, Vol. 37, 419-443.
- House, R.J. and Aditya, R.N. (1997) The social scientific study of leadership: Quo Vadis? Journal of Management, (23)3: 409-473

- Huselid, M. A & Becker, B.E. (1995). The Impact of Human Resource Practices on Turnover, Productivity and Corporate Financial Performance. Academy of Management Journal, Vol 38, no:3, , 635-672.
- Hutchison, S., & Garstka, M. L. (1996). Sources of perceived organizational support: Goal setting and feedback. Journal of Applied Social Psychology, 26, 1351-1366.
- Ichniowski, C., Shaw, K., & Prennushi, G. (1997). The effect of human resource management practices on productivity: a study of steel finishing lines. The American Economic Review, Vol. 87, No. 3, 291-313.
- Judge, T.A. and Ilies, R. (2002) Relationship of personality to performance motivation:
 A meta-analytic review. Journal of Applied Psychology, 87(4): 797-807.
 International Business & Economics Research Journal May 2008 Volume 7,
 Number 5 77
- Judge, T.A. and Piccolo, R.F. (2004) Transformational & transactional leadership: A meta-analytic test of their relative validity. Journal of Applied Psychology, 89(5): 755-768.
- Kalleberg, A.L & Moody, J.W. (1994), 'Human Resource Management and Organizational Performance', American Behavioural Scientist, Vol.37, pp.948-962
- Kane R. (2000). Downsizing, TQM, reengineering, learning organisations and HRM strategy. Asia Pacific Journal of Management, v38, n 1, , 26-48.
- Kerlinger, F. N. (1986). Foundations of Behavioural Research. New York: CBS publishing Japan Ltd., .
- Koch, M.J. and McGrath, R.G. (1996) Improving labor productivity: human resource management policies do matter, Strategic Management Journal, 17(5), 335-354
- Kotter, J. P., and J. L. Heskett (1992). Corporate Culture and Performance. New York: The Free Press
- Kristof, A. (1996). Person-organisation fit: an integrative review of it's conceptualisations, measurement, and implications. Personnel Psychology, 49, 1-49.

- Kristof-Brown, A.L., Zimmerman, R.D., & Johnson, E.C. (2005). Consequences of individuals' fit at work: A meta-analysis of person-job, person-organization, person group, and person-supervisor fit. Personnel Psychology, 58, 281-342
- Kulkarni, G.B., 'Staff Training', The Economic Times Research Bureau, The Economic Times, Saturday 30th May, 1981, P.3.
- Lado, A. & Wilson, M. (1994). Human Resources System and Sustained Competitive Advantage: Competency-based perspective. Academy of Management Review, Vol 19, 699-727.
- Lahiry, S. (1994). 'Building commitment through organisational culture.' In Training and Development, April, 48, n4, 50-53.
- Landy, F. J., J. L. Barnes and K.R. Murphy. 1978. "Correlates of Perceived Fairness and Accuracy of Performance Evaluation." Journal of Applied Psychology, 63: 751-754
- Landy, F.J and Farr, J. L. (1980). Performance Rating. Psychological Bulletin, 87, 72-107.
- Lansbury, R. (1988) "Performance Management: A Process Approach," Human Resource Management, Australia, 46-55.
- Larwood, L., Wright, T.A., Desrochers, S. and Dahir, V. (1998).
- Lau, R.S.M., & May, B.E. (1998), 'A Win-Win Paradigm for Quality of Work Life and Business Performance', Human Resource Development Quarterly, 9: 211–226
- Lee, C.H. & Bruvold, N.T. (2003), 'Creating Value for Employees: Investment in Employee Development', International Journal of Human Resource Management, Vol.14, pp.981–1000
- Lee, T. W. & Mowday, R. T. (1987). Voluntarily leaving an organization: An empirical investigation of Steers and Mowday's model of turnover. Academy of Management Journal, 30, 721 743
- Liu, B., Liu, J., & Hu, J. (2010). Person-organization fit, job satisfaction, and turnover intention: an empirical study in the Chinese public sector. Social Behavior and Personality, 38(5), 615-625

- Lovrich, Shaffer, Hopkins and Yale (1980). Public Employees and Performance Appraisals: Do Public Servants Welcome or Fear Merit Evaluations of Their Performance? Public Administration, 40, 3, 214 222.
- Luthans, F. (1998). Organisational Behaviour. 8th ed. Boston: Irwin McGraw-Hill
- MacDuffie, J.P. (1995). Human Resource Bundles and Manufacturing Performance: Organisation Logic and Flexible Production Systems in the World Auto Industry. Industrial and Labour Relations Review, Vol. 48, 197-221.
- Manley, H., (1996). Hospitality head hunting. Australian Hotelier April, 8-11.
- Marchington, M. (2000), Teamworking and employee involvement: terminology, evaluation and context, in F. Mueller & S. Procter (eds.), Teamworking, Macmillan Press, London
- Marriner-Tomey, A. (2000). Guide to Nursing Management and Leadership. Chicago: Mosby.
- Martinsons MG. Knowledge-based systems leverage human resource management expertise. Int J of Manpower 1995 16(2):17–34
- Mathieu, J. and Zajac, D. (1990). 'A review and meta-analysis of the antecedents, correlates, and consequences of organisational commitment.' In Psychological Bulletin, v108, 171-94
- Mathieu, J. E., & Zajac, D. M., (1990). A review and meta-analysis of the antecedents, correlates and consequences of organizational commitment. Psychological Bulletin, 108(2), 171-194
- McFarlin, D. B., & Sweeney, P. D. (1992). Distributive and procedural justice as predictors of satisfaction with personal and organizational outcomes. Academy of Management Journal, 35(3), 626–637.
- McGrath, G.R and MacMillan, I.C. (2000) Entrepreneurial Mindset: Strategies for Continuously Creating Opportunity in an Age of Uncertainty. Harvard Business School Press Books
- McShane, S.L., Von Glinow, M.A.(2000), Organizational Behaviour, N/A, Irwin/McGraw-Hill, Burr Ridge, Illinois, USA

- Mehra, A., Kilduff, M., & Brass, D. (2001). The social networks of high and low self-monitors: Implications for workplace performance. *Administrative Science Quarterly*, 46: 121-146
- Metcalf, H., Rolfe P., & Weale. M. (2005). Recruitment and Retention of Academic Staff in Higher Education. National Institute of Economic and Social Research, Research Report RR658
- Meyer, G.D. and Heppard, K.A. (2000) Entrepreneurial Strategies: The Dominant Logic of Entrepreneurship. New York, NY: Irwin University Books.
- Meyer, J. P., & Smith, C. A. (2000). HRM practices and organizational commitment: Test of a mediation model. Canadian Journal of Administrative Sciences, 17(4), 319–331
- Meyer, J. P., Bobocel, D. R., & Allen, N. J. (1991). Development of organizational commitment during the first year of employment: A longitudinal study of preand post-entry influences. Journal of Management, 17, 717–733
- Milgrom. P, Roberts. J (1992), Economics, Organization and Management, Englewood Cliffs: Prentice Hall
- Miller, J. G. & Wheeler, K G. (1992), 'Unraveling the mysteries of gender differences in intentions to leave the organization', Journal of Organizational Behavior, Vol.13, No.5, pp.465-478.
- Mobley, W. H., Hand, H. H., Baker, R. L. & Meglino, B. M. (1979). Conceptual and emprirical analysis of military recruit training attrition. Journal of Applied Psychology, 64, 507 517
- Mohrman, A.M., Resnick-West, S. and Lawler, E.E. (1989). Designing Performance Appraisal Systems: Aligning Appraisals and Organizational Realities. San Francisco, CA, Jossey-Bass, Inc
- Mohrman, J. A.-W. (1989). Designing Performance Appraisal Systems: Aligning Appraisals and Organsizational Realities. San Francisco: Jossey-Bass, Inc.
- Morris, J. H. and Scherman, J. D. (1981), "Generalizability of an Organizational Commitment Model", Academy of Management Journal, Vol.24,No.3, pp.512-526

- Morrison, M. (1993). Professional Skills for Leadership: Foundations of a Successful Career. London: Mosby.
- Mowday, R. T., Porter, L. W., & Steers, R. M. (1982). Employee-Organizational linkages: The psychology of commitment, absenteeism, and turnover. New York: Academic Press.
- Mowday, Richard T., Richard M. Steers, and Lyman W. Porter (1979). "The measurement of organizational commitment." Journal of Vocational Behavior, 14. 224-247.
- Moynihan, D. P. and S. K. Pandey.2008. "The Ties that Bind: Social Networks, Person-Organization Value Fit, and Turnover Intention." Journal of Public Administration Research and Theory 18(2): 205–27
- Murray, L. P., Gregoire, M. B., & Downey, R. G. (1991). Organizational commitment of management employees in restaurant operations. Hospitality Research Journal, 14, 339-348
- Nadir, H. & Tanova, C. (2010). An investigation of the role of justice in turnover intentions, job nsatisfaction, and organizational citizenship behavior in hospitality industry. International Journal of Hospitality Management, 29, 33-41.
- Nandakumar, D.P., 'HRM in Textile Mills: A Study of Parvathy Mills Ltd., Kollam', M.Phil., Dissertation, Kerala University, 1992, P.141
- Nazari, J., Kline, T., Herremans. I.,. (2006). Conducting survey research in Managemnt Accounting: Methodological Isues in Accounting research: Theories and Methods, edited by Z. Hoque, 427-459.
- Nunnally, J. C. (1978). Psychometric theory (2nd ed.). New York: McGraw-Hill.
- Obwogi, J. (2011). Factors that Affect Quality of Teaching Staff In Universities In Kenya. PhD Thesis. Jomo Kenyatta University of Agriculture and Technology
- O'Reilly CA III, Chatman J, Caldwell (1991), "People and organizational culture: A profile comparison approach to assessing person-organization fit," Academy of Management Journal, 32, 622-48
- Pandey, D.N., 'A Study of the Programme of Co-operative Education and Training in Meerut District', Co-operative Perspective, Vol.10, April June, 1975, pp 49-55.

- Park, H.J & Mitusuhashi, H & Fey, C.F. & Bjorkman, I. (2003). The effect of human resource management practices on Japanese MNC subsidiary perfromance a practical mediating model. International Journal of Human Resource Management, Vol 14, No. 8, 1391-1406.
- Paul, A.K & Anantharaman, R.N. (2003), 'Impact of people management practices on organizational performance: analysis of a causal model', International Journal of Human Resource management, 14:7, pp.1249
- Peteraf, M.A. (1993), 'The Cornerstones of Competitive Advantage: A Resource-Based View,' Strategic Management Journal, Vol.14, No.3, pp.179–192
- Pfeffer, J. & Veiga, F. (1999). Putting People First for Organizational Success. Academy of Management Executive, Vol 13, No:2, 37-48.
- Pfeffer, J. (1994). Competitive Advantage Through People. Boston, MA: Harvard Business School Press.
- Pfeffer, J. (1998). Seven practices of successful organizations. California Management Review, 40(2), 96–124.
- Pfeffer, J.(1998). The Human Equation: Building Profits by Putting People First.

 Boston: Harvard Business School Press
- Pinder CC. 1998.Work Motivation in Organizational Behavior. Upper Saddle River, NJ: Prentice Hall
- Poon, J. M. L. (2004). Effects of performance appraisal politics on job satisfaction and turnover intention. Personnel Review, 33(3), 322–334.
- Porter, LymanW,, Richard M, Steers, Richard T. Mowday, and Paul V. Boulian (1974)"Organizational commitment, job satisfaction, and turnover among psychiatric technicians." Journal of Applled Psychology, 59: 603-609
- Porter. M. V. (2001). The bottom line in employee compensation. Association Management, v53, i4, 44-50.
- Purcell, J., Kinnie, N., Hutchinson, S., Rayton, B. and Swart, J. (2004) Understanding the People & Performance Link: Unlocking the Black Box. Research Report, Chartered Institute of Personnel and Development.

- Quarles, R. (1994), 'An examination of promotion opportunities and evaluation criteria as mechanisms for affecting internal auditor' *Journal of Managerial Issues*, Vol.6, No.2, pp.176- 194
- Reichers, A.E. (1985). A review and conceptualization of organisational commitment.

 Academy of Management Review, 10, 465-476
- Robbins, Stephen P. (2005), Organizational Behavior, Upper Saddle River, New Jersey, Pearson, Prentice Hall
- Roberts, E.S. (1999). In defence of the survey method. Accounting and Finance 39:1, 53-77
- Rosser, V. (2004). Faculty Members' Intention to leave. A national Study on their Work-life and Satisfaction. Research in Higher Education, 45 (3), 285-309
- Rowe, W. (2001). "Creating wealth in organizations: The role of strategic leadership", Academy of Management Executive, Vol. 15, pp.81-94
- Rowe, W. G., Cannella, A. A., Rankin, D. and Gorman, D. (2005). Leader succession and organizational performance: Integrating the common-sense, ritual scapegoating, and vicious-circle succession theories. Leadership Quarterly, 16, 197-219
- Russel, J. S., Terborg, J.R., & Powers, M.L., (1985), 'Organizational performance and organizational level training and support', Personnel Psychology, Vol.38, No.4, pp.849-863
- Saks, A. M. (2006). Antecedents and consequences of employee engagement. Journal of Managerial Psychology, 21(7), 600-619
- Saks, A. M., & Ashforth, B. E. (1997). Organizational socialization: making sense of the past and present as a prologue for the future. Journal of Vocational Behavior, 51, 234–279
- Schein, E. (1999). The corporate culture survival guide. San Francisco: Jossey Bass.
- Scroggins, W.A. (2007), "An examination of the additive versus convergent effects of employee perceptions of fit", Journal of Applied Social Psychology, Vol. 37, pp. 1649–1665
- Seth, P., 'Import on Training as Personnel Manatus', Productivity, Vol.25(2), 1984, PP 207-216.

- Settoon, R. P., Bennett, N., & Liden, R. C. (1996). Social exchange in organizations: perceived organizational support, leader-member exchange, and employee reciprocity. Journal of Applied Psychology, 81, 219-227.
- Shahzad, K., Bashir, S., & Ramay, M.I. (2008), 'Impact of HR Practices on Perceived Performance of University Teachers in Pakistan', International Review of Business Research Papers, 4, No.2, pp.302-315
- Shaw, P., Beven, A., Leader, D., & Brown, J. (1998).Localization and processing from a polycistronic precursor of novel snoRNAs in maize.J Cell Sci, 111, 2121-8.
- Sheridan, J.E. (1992). 'Organisational culture and employee retention.' In Academy of Management Journal, December, v35, n5, 1036-57.
- Shore, L. M., & Tetrick, L. E.(1994). The psychological contract as an explanatory framework in the employment relationship. In Cooper, C. and Rousseau, D. (Eds.), Trends in Organizational Behavior, 1, 91-109
- Shore, L. M., & Wayne, S. J. (1993). Commitment and employee behavior: comparison of affective organizational commitment and continuance commitment with perceived organizational support. Journal of Applied Psychology, 78, 774-780
- Singh, R.D., 'A Study of Management of Fort nightly Training Programme Under Training and Visit System in Haryana', Ph.D., Thesis, Meerut University, U.P., 1995.
- Sivasubramanyam, N. & Venkataratnam, C.S. (1998), 'The Relationship between Human Resource Management and Firm Performance: The Indian Experience', Paradigm, 1: pp.135-141
- Skarlicki, D. P., & Folger, R. (1997). Retaliation in the workplace: The roles of distributive, procedural, and interactional justice. Journal of Applied Psychology, 82,434-443.
- Skinner, E. A. (1995). Perceived control, motivation, and coping. Newbury Park, CA: Sage Publications
- Slaughter, J. E., Richard, E. M., & Martin, J. H. (2006). Comparing the efficacy of direct estimates and policy capturing weights for predicting job choice. Organizational Research Methods, 9, 285-314

- Sousa-Poza, A./Henneberger, F. (2002), "An Empirical Analysis of Working-Hours Constraints in 21 Countries", Review of Social Economy, 60 (forthcoming)
- Steers, R. M. (1977). Antecedents and outcomes of organizational commitment.

 Administrative Science Quarterly, 22, 46-56
- Stum, D.L. (1998). 'Five ingredients for an employee retention formula.' In HR Focus, September, v75, n9, 9-11.
- Susan. G Cohen, D. E. (1997, vol 23, No 3). What makes teams work: Group effectivness research from the shop floor to executive suite. Journal fo Management, 239-290.
- Terpstra DE, Rozell EJ. 1993. The relationship of staffing practices to organizational level measures of performance. Personnel Psychology. 46:27-48
- Teseema, M. & Soeters, J. (2006). Challenges and Prospects of HRM in developing Countries: Testing the HRM-performance link in Eritrean Civil service. Journal of Human Resource Management, Vol 17, No: 1, 86-105.
- Thampan, M.R., 'Role of Co-operative Banks in the Upliftment of the Poor', Ph.D., Thesis, Kerala University, 1994, P.201.
- Tsui, A. S., Pearce, J. L., Porter, L. W., & Tripoli, A. M. 1997. Alternative approaches to the employee-organization relationship: Does investment in employees pay off? Academy of Management Journal, 40: 1089-1121.
- Tuckman, B. W. Development sequence in small groups. Psychological Bulletin, 1965, 63(6), 384-399
- Van Vianen, A. E. M., De Pater, I. E., & Preenen, P. T. Y. (2008). CareerManagement: Taking control of the quality of work experiences. In J. Athanasou & R. Van Esbroeck (Eds.), International handbook of career guidance (pp. 283-301).London: Springer
- Vancouver, J. B., & Schmitt, N. (1991). An exploratory examination of personorganization fit: Organizational goal congruence. Personnel Psychology.44, 333-352
- Verquer ML, Beehr TA, and Wagner, SH (2003), "A meta-analysis of relations between person-organization fit and work attitudes," Journal of Vocational Behavior, 63, 473-89

- Verquer, M.L., Beehr, T.A. and Wagner, S.H. (2003), "A meta-analysis of relations between person-organization fit and work attitudes", Journal of Vocational Behavior, Vol. 63, pp. 473-89
- Vroom, V. H. (1964). Work and motivation. New York: Wiley.
- Waddell, S., Armstrong, J.D., Kitamoto, T., Kaiser, K., Quinn, W.G. (2000). The amnesiac gene product is expressed in two neurons in the Drosophila brain that are critical for memory.103(5): 805--813
- Wagar, T.H. (2003, February). 'Looking to retain management staff? Here's how HR makes a difference.' In Canadian HR Reporter, Toronto.
- Waswa, F., & Katana G. (2008). Academic Staff Perspectives on Operating Beyond Industrial Actions for Sustainable Quality Assurance in Public Universities in Kenya. International Journal of Environment, 4(1), 45-58.
- Waterman, R.H. Jr, Waterman, J.A. and Collard, B.A. (1994), "Toward a career-resilient workforce", Harvard Business Review, Vol. 72 No. 4, pp. 87-95
- Welbourne, T. & Andrews, A. (1996), 'Predicting Performance of Initial Public Offering Firms: Should HEM be the Equation?', Academy of Management Journal, Vol.39, pp.839-919
- Werbel, J.D. and Gould, S. (1984). 'A Comparison of the Commitment-TurnoverRelationship in Recent Hires and Tenured Employees.' Journal of Applied Psychology, v64, 687-93.
- Wexley, K.N. and Latham, G.P. (1981), Developing and Training Human Resources in Organizations, Scott Foresman,& Company, Glenview, IL
- Whitener, E.M. (2001). 'Do "high commitment" human resource practices affect employee commitment? A cross-level analysis using hierarchical linear modelling.' In Journal of Management, Sept-Oct, v27, i5, 515-64.
- Whitener, E. (2001), "Do high commitment human resource practices affect employee commitment? A cross-level analysis using hierarchical linear modeling", Journal of Management, Vol. 27 No. 5, pp. 515-35

- Winston, G. (1992). Hostility, Maximization, and Trust. Economics of Higher Education. In: Breneman, D. W., Leslie, L. L., & Anderson, R. E. (Eds.), ASHE Reader on Finance in Higher Education. Needham Heights, MA: Ginn Press, 1993
- Wright, P. & Nishii, L. (2004), 'Strategic HRM and organizational behaviour: integrating multiple level analyses, Paper presented at the What Next for HRM? Conference, Rotterdam
- Wright, P., McCarthy, J., & Meekison, L. (2003). Making sense of experience. Blythe, M. A., Overbeeke, K., Monk, A. F., & Wright P. C. (Eds.), Funology: From usability to enjoyment, 43-53. Dordrecht, The Netherlands: Kluwer Academic Publishers
- Wright, P., McMahan, G.C., & McWilliams, A. (1994). Human Reseouce and Sustained Competetive Advantage: A Resource-Based Perspective. International Journal of Human Resource Management, 39, 301-326.
- Youndt, M.A., Snell, S.A., Dean, J.W., & Lepak, D.P. (1996), 'Human Resource Management, Manufacturing Strategy and Firm Performance', Academy of Management Journal, Vol.39, 836-866
- Yousaf, A. (2010). One Step Ahead: Examining New Predictors of Affective and Organisational Occupational Commitment. PhD thesis. University of Twente
- Yukl, G. (2002) Leadership in organizations. 5 rd edn. Englewood Cliffs, NJ: Prentice-Hall
- Zacharatos, A., Barling, J., & Kelloway, E. K. (2000). Development and effects of transformational leadership in adolescents. The Leadership Quarterly, 11(2), 211 226.
- Zheng, C., Morrison, M., and O'Neill, G. (2006) An empirical study of high performance HRM practices in Chinese SMEs, The International Journal of Human Resource Management, 17: 1772 1803
- Zhu, W., Chew, I.K.H. and Spangler, W.D. (2005) CEO transformational leadership & organizational outcomes: The mediating role of human-capital-enhancing human resource management. The Leadership Quarterly, 16(1): 39-52.